Smokers vs non-smokers

I need to find out if the percentage distribution differs for smokers and non-smokers between men and women. Use Chi-square (level of significance .05) test and need a 2 by 2 contingency table that looks like:

                        Smokers found

                         Yes           No

Males                12             38                           

Females            14             36                     

Find the expected frequencies in the contingency table and perform the Chi-square test.

